/L= =[F
A L = 1T FH ZE
w P BB/ NERB R EIRET
B B E OF | EB/ER
5 Fr | k2 EAEE 1 0 5 &b
# M | 5% 2% 4R248 H»5 £ 3% 3A17TH £T (3288
2 # F 5 |SW2EE F405 2 #H ¥ & B |HMW 25 48 23H
2 #H K & |BEEg 2 #H A & |BEREAL
2 ik AT E | 071100 HEL EHRHEE
2 #%H £ # |1,760,000M (5 BEEIZ{%5EERS 160, 000M)
FEME ( FHA) ARLEN
= K & BB i & |&8
EHERLTANASH MBEER
2 H M8 F A | BNELEHEHAVEEER1 4 0 Fih
ik =8 IET
AfB (FE+B) S 2% 48 22H A ¥ FH # | 8F
S 0301 EYERERRERE 2 #H R HE & | &£k
A #L 5 3
¥ & £ £ 1[0 %2 $£3[H 5

20009654-0 1,800, 000

AR E#ER

20000292-0 1,700, 000

il B

20052139-0 1680, 000

#xX4tENZOU

20000673-0 1,720, 000

#XStHEPER LR

20052140-0 1890, 000

FaELkIE

20048063-0 1,810, 000

XS EEARRER

20052718-0 1.700. 000

FHEER

200093161 1,600, 000

EHERLT RS EBERERT -
% %k %k %k %k

ZHES

361




